[19;:9:9:9:9:9:9:9:0:9:9:9:9:9:9:0:9:0:0.9:9:0.0.0.0.0:0.:9:9:0.9:9:0.0.0:9:0:0:0:0.0:9.:0.0:0.:0:90:9.0:9:9.:0:0:0:0.0.9:0:0.0:0:0.0:0:0.9.0:0.9:0.0.0.:0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXKMS/1-6400307-00001XX
TrigonometryExercise7 for No.9124

No]:{']:[B:3OO’CZ(42ﬁ+4Zﬁﬁ: 162.28), a = (8442 = 118.79)]}

2=[a=42,b= (1442 /3 =3429), c = (74/2 /3 +214/2 = 46.84)]
I =[B=30°4=30° c=(7243 = 124.71)] }

2=[A=60° B=75c=(104/2 /3 = 24.49)]

[ I=[B=30%a=(304/2 =42.43),c = (154/2 + 154/2 4/3 = 57.96)] }

No3 = o

2=[C=60%b=(6423 +184/2 =40.15),a = (124/2 4/3 =29.39)]
Nod=[a=36,b= (1842 /3 =44.09), 4 = 45°]

):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00002XX
TrigonometryExercise7 for No.9197

o _{1 —[4=30%b=(424/2 /3 —42/2 =43.48), c = (842 = 118.79)]}
Tl 2=[a=(334/3 —33=24.16), b =66, c = (334/2 4/3 =80.83)]

N02=[

I=[A=30° C=15% b= (8442 =118.79)] J
2=[C=45°,4=15°b=(394/2 43 =95.53)]

Nﬁ{ I=[C=45° a=(304/3 =30=21.96), b= (304/2 4/3 =73.48)] }
TL2=[4=60% b= (1442 4/3 =3429), ¢ = (74/2 43 + 2142 = 46.84)]

Nod=1[a=18,b=(78+/3 = 135.10), 4 = 30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00003XX

TrigonometryExercise7 for No.9252

[.1: [a=(124/24/3 + 36«/5:80.31),b=(24«/§«/;:58.79),c:72]}
Nol =
2=[B=30° a= (482 =67.88), c = (24 /2 /3 — 244/2 = 24.85)]
[.1 _[4 =75°,B=60°,c=(26«/§«/§=63.69)]}
No2 =
2=[C=30° B=15% a=(484/2 = 67.88)]

N03_{1 :[A:60°,b:(16«/5«/?z39.19),c:(8«/5«/§+24«/5:53.54)]}

T 2=[B=30%c=(3642=5091), a=(184/2 + 184/2 4/3 =69.55)]

Nod=1[a=48,b=(48+3 =83.14), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00004XX

TrigonometryExercise7 for No.9312

NO]_[.1:[B:30°,c:(66«/5293.34),a:(33«/5+33«/5«/§:127.50)]}
TL2=[a=(134/24/3 +394/2 =87.00), b= (26 /2 4/3 = 63.69), c = 78]

N02=[

I =[A=45,B=105c=(364/2 = 50.91)]}
2=[A4=30° B=30°, ¢ = (484/3 = 83.14)]

I=[4=30° c=(364/3 =6235), b=36] }
2=[C=45 a=(424/2 =59.40), b= (42 + 424/3 = 114.75)]

No4=[a=30,b=(304/3 =51.96),4=30"]
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXKXKXKKXXKXKXKKXKXKK

N02={

N03=[




):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXKXMS/1-6400307-00005XX
TrigonometryExercise7 for No.9397

NO]Z{J:[a:(22ﬁf=53.89),b=(11ﬁ«/?+33ﬁ:73.61),c=66]}
2=[A4=30°b=(4243 =72.75),c = 42]

I =[B=30° C=30%a=(84+/3 = 145.49)] }
2=[A=60° B=75 c=(20+/2 +/3 = 48.99)]

I=[A=45 c=(15+154/3 =40.98), b= (154/2 4[3 =36.74)] }

NO3:[.2=[B=60°,a:(lzﬁﬁ+36ﬁ=80.31),c=(24ﬁﬁ=58.79)]

Nod =[a=36,b= (3643 =62.35), 4=30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00006XX

TrigonometryExercise7 for No.9449

NO]_{]:[B=600,az(18«/5«/;=44.09),c=(9«/5«/?—%27«/5:60.23)]}
B 2=[a=90,b=(904/3 = 155.88), ¢ =90]
{1 —[B=105° 4 =45 c= (422 = 59.40)]}
No2 =
2=[C=15° B=30°% a=(424/2 = 59.40)]
[1 [B=60° a=(134/2 /3 +394/2 =87.00), c = (264/2 4/3 = 6369)]}
No3 =
_[A=30°% c= (3042 =42.43), b= (154/2 4/3 = 154/2 = 15.53)]

Nod=[a=54b=(54+3 =93.53), 4 = 30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00007XX

TrigonometryExercise7 for No.9562

Nolz[ I =[A=30%c=(664/3 =11432), b= 66] }
2=la=(1424/3 +424/2 =93.69), b= (2842 /3 = 68.59), c = 84]
I =[4=30° B=30° c= (4243 =72.75)] }
2=[C=75B=60° a=(28+/2 /3 =68.59)]
N03:{I _[A=30° c= (8442 = 118.79), b= (42/2 +424/2 /3 = 162.28)]}
2=[B=45°c=(304/2 =42.43), a=(30+304/3 = 81.96)]
Nod=[a=36,b= (1842 /3 =44.09), 4 = 45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00008XX
TrigonometryExercise7 for No.9721

{]:[A:60°,c:(9«/5«/§+27«/5:60.23),b:(18«/5«/§:44.09)]}
Nol =
2=[a=(1542 /3 =36.74), b=30, c = (154/3 = 15= 10.98) ]
Noz_{l=[B=45°,A=75°,c=(39«/§«/§=95.53)]}
TL2=[B=75° C=60° a=(30+/2 /3 = 73.48)]
Nﬁ{ I =[C=45° a=(424/3 —=42=30.75), b= (424/2 4/3 = 102.88)] }

—[A4=30°% c= (3642 +364/2 43 =139.09), b= (7242 = 101.82)]

Nod=[a=66,b=(6643 =114.32),4=30°]
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXKXXKXKXKKXKKXKXKXKKXKXKK

N02=[

N02=[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXXKXXKXMS/1-6400307-00009XX
TrigonometryExercise7 for No.9789

NO]:[J:[a=78,b=(13«/5«/;+39«/5:87.00),c=(26«/5«/;:63.69)]}
2=[C=30°a=78,b=(78+/3 = 135.10)]
I=[C=45°, B=105° a=(394/2 = 55.15)] J
2=[B=60°, C=75" a=(20+/2 /3 =48.99)]
o [1 [B=60° c=(204/2 4/3 =48.99), a = (104/2 4/3 +304/2 = 6692)]}
2=[C=45°a=(154/2 /3 =36.74), b= (154/3 = 15=10.98)]
No4=[a=42,b=(21«/7«/7=51.44),A=45]

),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00010XX
TrigonometryExercise7 for No.9795

NO]:[ d=[a=(604/3 =103.92), b= 60, c=60] }
2=[C=60%a=(1542 3 +454/2 =100.38), b = (304/2 4/3 = 73.48)]
I =[A=30°%B=30° c=(724/3 = 124.71)] }
2=[B=15° C=45° a=(18+/2 +/3 =44.09)]
I=[C=45° a=(424/2 =59.40), b= (42 + 424/3 = 114.75)] }

No3 = { 2=[4=60° b= (15ff+45f_10038)c_(30ff 73.48)]

No4=[a=48,b=(48f=83.14),A=30 ]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00011XX

TrigonometryExercise7 for No.9839

{]—[a (94243 +274/2 26023), b=54, ¢ = (1842 4/3 = 4409)]}
Nol =
L4 =45° b= (36 4 364/3 = 98.35), c = (36 /2 = 50.91)]
[.1=[A=60,B=75,c=(26ff=63.69)}
No2 =
2=[4=30°,C=30° b=(724/3 = 124.71)]

Nog o [1 [B=60° a=(2042 /3 =48.99), c= (104/2 43 +304/2 = 6692)]}

2=[A=30°b=54,c= (5443 =93.53)]

No4 =[a =90, b=(9of= 155.88), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00012XX

TrigonometryExercise7 for No.9843

NO]:[ T =[a=(24+2 =33.94), =48, c = (24 + 243 = 65.57)] }
2=[C=60%a=(8+24/3 +244/2 =53.54), b=(164/2 4/3 =39.19)]
Moo - { —[C=45°,B=15a= (364243 = 8818)}

2=[B=60°, C=75" a= (1442 4/3 =3429)]
NO3_[1 [C=30° b= (45[@ 454/2 = 46.59), a = (9()[_12728)]}
2=[A4=45 b=(394/2 4/3 =95.53), c = (39 +394/3 = 106.55)]

Nod=[a=T72,b=(724/3 =124.71),4=30°]
X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXKXKXXKXXKXKXKKXKXKXKKXKXKK

N02=|:

N02=[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXKXMS/1-6400307-00013XX
TrigonometryExercise7 for No.9854

Noz{ I=[B=45,a=(18+ 1843 =49.18), ¢ = (1842 = 25.46)] }

2=[a=90,b=(304/2 /3 =73.48), ¢ = (1542 /3 + 454/2 = 100.38)]
I =[4=30°% B=30° ¢=(304/3 =51.96)] }

2=[4=75 B=60° c=(22+/2 /3 = 53.89)]

Noj,:[ I=[C=45 a=(424/3 —42=30.75), b= (424/2 43 = 102.88)] }

2=[B=60°a=(242 43 =5879),c=(124/2 4/3 +364/2 =80.31)]

Nod =[a=48,b= (2442 /3 =58.79), 4 =45°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00014XX

TrigonometryExercise7 for No.9862

NO]_{ d=[a=42,b=(2142 /3 =51.44), ¢ = (21 + 214/3 = 57.37)] }
TL2=1C=30%b=(214/24/3 —214/2 =21.74), a = (424/2 = 59.40)]
[1 :[A=75°,B:6o°,c=(16ﬁﬁ=39.19)]J
No2 =
2=[A=45, C=105° b= (4542 = 63.64)]
I=[C=30°b=(304/3=51.96), a=30] }

No3 = [2 [B =60° c_(13ff+39f 87.00), a = (2642 43 = 63.69)]

Nod=1[a=84 b= (8443 = 145.49), 4 = 30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00015XX

TrigonometryExercise7 for No.10278

NO]:[.Iz[A:600,c=(22«/§«/;:53.89),b:(llﬁ«/;+33«/5:73.61)]}
2=[a=(3042 =42.43), b=30,c = (154/2 + 154/2 4/3 =57.96)]
Moo { S [C=754=60° b= (144243 = 3429)}

2=[B=45°C=75° a_(15ff 36.74)]
N03:{1=[B=60,a:(9ff+27f=60.23),c:(lsff=44.09)]}
2=[A=30° b= (452 +454/2 4[3 = 173.87), c = (904/2 = 127.28)]

Nod=1[a=90,b=(90+/3 = 155.88), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00016XX

TrigonometryExercise7 for No.10361

NO]:[.1:[B:60°,a:(20«/5«/§:48.99),c:(IO«/E«/g+3O«/5:66.92)]}

2=[a=(424/2=59.40), b= (2142 4[3 —214/2 =21.74), ¢ = 42]
I =[A=30°% B=105°, ¢ = (60+/2 = 84.85)] }

2=[B=15° C=45° a=(45+/24/3 =11023)]

Nog o [1 [B=60° c=(104/2 43 +304/2 =66.92), a = (204/2 /3 = 4899)]}

2=[4=30°%c=48,b= (48«/7 83.14)]

Nod=[a=T72,b=(72+/3 =124.71),4=30°]
X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXKXXKXKXKXKKXKXKXKKKKXKK

N02=[

N02={



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXKXXKXXKXMS/1-6400307-00017XX
TrigonometryExercise7 for No.10532

NO]:[.I:[a:66,b:(22«/5«/;:53.89),c:(llx/zx/g+33«/5:73.6l)]}
2=[B=45,c¢=(1542=2121),a=(15+154/3 =40.98)]
NOZ_[.I:[C 75°, B=45%, a= (2742 4/3 = 6614)}
2=[B=15°4=30° c= (6642 = 93.34)]
o {]—[A 60°, b= (84/2 43 +244/2 =53.54), c = (164/2 43 = 3919)]}
Do [C=45° b= (36413 —36=2635),a= (3642 43 = 88.18)]
Nod=[a=30,b=(154/2 /3 =36.74), 4 = 45°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00018XX
TrigonometryExercise7 for No.10688

{1 —[B=30%a=(904/2 =127.28), c = (45/2 +454/2 /3 = 173.87)]}
Nol =
2=[a=48,b=(24+244/3 =6557), c= (242 =33.94)]
1 =[B=30%4=30° c=(784/3 = 135.10)] J
2=[A4=75 C=45° b= (1842 /3 =44.09)]
Nﬁ{ I=[C=45° b=(394/3 =39=28.55),a=(394/2 4/3 =95.53)] }

2=[B=60° c=(18+4/24/3 =44.09), a=(94/2 /3 +274/2 =60.23)]

Nod=[a=72,b= (36423 =88.18), 4 = 45°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00019XX

TrigonometryExercise7 for No.10868

[1 —[C=60%a=(5424/3 + 15«/5=33.46),b=(10«/§«/§=24.49)]}
Nol =
2=[a=(18+42 /3 =244.09), b =36,c= (1843 - 18=13.18)]
I=[B=105°,C=45 a= (4542 = 63.64)] }
2=[B=75 4=60° c=(14+2 /3 =3429)]

NO3_[.1= [4=45°b=(3342 =46.67), ¢ = (33 +33«/§=90.16)]}
2=[C=30°a= (6643 = 114.32), b= 66]
Nod=1[a=90,b= (452 /3 =11023), 4 = 45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00020XX
TrigonometryExercise7 for No.10900

NO]:{]:[a:(30«/5«/§:73.48),b:90,c:(15«/5«/§+45«/5: 100.38)]}
2

_[A4=30°% b=72,c=(724/3 = 124.71)]
I=[C=30%4=30%b=(364/3 =62.35)] }
2=[4=45,C=75b=(15+/2 /3 =36.74)]

N03:{1:[A:6O°,c:(18«/5«/§:44.09),b:(9«/5«/§+27«/5:60.23)]}

2=[C=30°b=(844/3 = 145.49), a = 84]

No4=[a=30,b=(304/3 =51.96), 4=30"]
X [Page = 0005] XXXXXXXXXXXKXXXXXXXXXXXXXXXXKXXXXKXKXKXXKXKXKXKKXKXKXKKXKXKK

N02=[

NoZ:[

No2=[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKXMS/1-6400307-00021XX
TrigonometryExercise7 for No.11693

NO]_{ I =[B=45,a=(24+244/3 =6557),c = (244/2 4/3 = 58.79)] }
TL2=[a=72,b=(364/2 +364/24/3 =139.09), c = (724/2 = 101.82)]
[.1 _[4=60°, C:75°,b:(30«/5«/§:73.48)]}
No2 =
2=[C=45°,4=15°b=(304/2 43 =73.48)]
[.1 —[C=60° b= (13 «/5«/;+39«/5:87.00),a:(26«/5«/§:63.69)]}
No3 =
2=[A=45°,c= (274243 =66.14), b= (27 + 2743 =73.77)]

Nod =[a=48,b= (2442 /3 =58.79), 4 = 45°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00022XX

TrigonometryExercise7 for No.12097

NO]_{1:[A=6O°,c:(14«/5«/7=34.29),b=(7«/5«/§+21«/5=46.84)]}
B 2=[a=60,b=60,c=(6043 =103.92)]
[.]:[3:600, C:75°,a:(14«/5«/§:34.29)]}
No2 =
2=[B=15° C=30%a= (6042 = 84.85)]
N03_[.1 _[C=60° a= (264243 =63.69),b=(134/2 /3 + 39«/5=87.00)]}
Tl 2=[4=30° b= (1842 +184/2 4/3 =69.55), c = (364/2 = 50.91)]

Nod=[a=42,b=(42+3 =72.75), 4 = 30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00023XX

TrigonometryExercise7 for No.12172

NO]_[ d=[a=(454/3 —45=32.94), b= (454/2 4/3 =110.23), ¢ = 90] }
TL2=[4=60° b=(134/2 4/3 +394/2 =87.00), c = (26 4/2 4/3 = 63.69)]
[.]=[C=75°,A=60°,b=(28«/§«/§=68.59)]}
No2 =
2=[B=30°C=15" a=(84+/2 =118.79)]
N03_{ I=[A=45°b=(30+3043 =81.96), c = (304/2 4/3 =73.48)] }
TL2=[C=30%b=(1542 + 154/24/3 =57.96), a = (304/2 = 42.43)]

Nod=[a=42,b= (2142 /3 =51.44), 4 =45°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00024XX

TrigonometryExercise7 for No.12173

{1 —[B=30%a= (4242 +424/2 4[3 =162.28), c = (84 4/2 = 118.79)]}
Nol =
2=[a=(36+424/3 =88.18), b= (36 + 364/3 =98.35), c = 72]
[.]=[A=60°, C=75°,b=(30«/§«/§=73.48)]}
No2 =
2=[B=30° C=105" a=(60+2 =84.85)]
{1 —[C=30%a=(2142 +21 «/5«/;:81.14),b=(42«/5:59.40)]}
No3 =
2=[A4=45b=(15+154/3 =40.98), c = (1542 =21.21)]

No4=[a=90,b=(90+/3 =155.88), 4=30°]
X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXKXXKXKXKKXKXKXKKXKXKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXXKXXKXMS/1-6400307-00025XX
TrigonometryExercise7 for No.12180

I=[a=30,b=(304/3 =51.96), ¢ =30] }
2=[B=45,c=(15+154/3 =40.98), a = (154/2 4/3 =36.74)]
I:[C:15°,B:45°,a:(45«/5«/§:110.23)]}
2=[C=30° B=30%a=(784/3 = 135.10)]
I=[A=30°% b= (4843 =83.14), c = 48] }
2=[B=45c=(4242 /3 =102.88), a = (424/3 — 42 =30.75)]

Nod=1[a=84 b= (8443 = 145.49), 4 = 30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00026XX

TrigonometryExercise7 for No.12256

NO]:{1=[a=(9«/5«/;+27«/5:60.23),b:54,c=(18«/5«/§=44.09)]}

2=[A=45°b=(3942 =55.15), c = (39 + 394/3 = 106.55)]

Nol :[
No2 = {

NoS‘z[

.1=[A=105°,B=3o°,c=(6oﬁ=84.85)]J
2=[A=45°,C=105% b= (4242 =59.40)]
N(ﬁz[.l —[C=60%b=(26424/3=63.69),a= (134243 + 39«/5=87.00)]}
2=[B=45,a= (45243 =110.23), c = (45 + 4543 = 122.94)]
Nod=[a=42,b= (4243 =72.75), 4 = 30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00027XX
TrigonometryExercise7 for No.12278

d=[a=(904/3 = 155.88), 5=90, ¢ = 90] }
2=[A=45% c= (4542 43 = 11023), b= (45 + 454/3 = 122.94)]
{1:[3:450, C=75°,a=(15«/§«/§=36.74)]}
No2 =
2=[B=30° C=30%a=(904/3 = 155.88)]
{]:[B:60°,a:(9«/5«/§+27«/E:60.23),c:(18«/5«/§:44.09)]}

No3 =

2=[C=45° a=(184/3 =18 =13.18), b= (18 4/2 4/3 = 44.09)]

Nod =[a=60,b=(3042 /3 =73.48), 4 =45°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00028XX

TrigonometryExercise7 for No.12482

NO]_[ I =[B=30°a= (542 =7637), c= (2742 /3 = 274/2 =27.95)] }
TL2=[a=(2642 /3 =63.69), b= (134/2 /3 +394/2 =87.00), c = 78]
[.]=[B:60°,C:75°,a:(18«/5«/§:44.09)]}

No2 =
2=[A=105°, C=45° b= (272 =38.18)]
I =[C=45°b=(33+334/3290.16), a = (334/2 = 46.67)] }
2=[B=60°c=(6424/3 +184/2 =40.15),a= (1242 4/3 =29.39)]

No4=[a=60,b=(304/2+/3 =73.48),4=145]
X [Page = 0007] XXXXXXXXXXXKXXXXXXXXXXXXXXKXXKXXXXKXXKXKXXKXKXKXKKXKXKXKKXKXKK

NoZ:[

No]:[

N03={



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXXKXMS/1-6400307-00029XX
TrigonometryExercise7 for No.12586

I =[a=(54+3 =93.53), b= 54, c = 54] }
2=[C=45°b=(244/2/3 =5879), a=(244/3 —24=17.57)]
{ I =[B=30°4=15 c=(90+/2 = 127.28)] }

No?2 =
2=[A=45B=75 c= (42243 =102.88)]

N03_[.1=[C=60°,a=(24ﬁﬁ:58.79),b:(lzﬁ«/?+ 36«/5:80.31)]}
Tl 2=[4=30° c= (6642 =93.34), b= (3342 4/3 = 334/2 =34.16)]

Nod=1[a=90,b=(90+/3 = 155.88), 4 = 30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00030XX

TrigonometryExercise7 for No.12677

NO]:{12[a:72,b:(12«/5«/;+36«/5:80.31),c:(24«/5«/;:58.79)]}
2=[C=45° a=(42+424/3 =114.75), b= (424/2 4[3 = 102.88)]
Nozz[.]:[C:75°,B:6O°,a:(l2«/5«/§:29.39)]}
2=[4=30° C=30°b=(544/3 =93.53)]
NO3:[.1:[C:6O°,b:(9«/5«/§+27«/5:60.23),a:(18«/5«/§:44.09)]}
2=[4=30%¢=30,b=(3043 =51.96)]
Nod=1[a=90,b=(90+/3 = 155.88), 4 = 30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00031XX
TrigonometryExercise7 for No.13490

o { d=[a=(364/2=5091),b=(36+364/3 =9835),c=72] }
2=[B=60° a=(144/2 43 =34.29), c = (74/2 /3 +214/2 = 46.84)]
I=[C=30°4=30°b=(304/3 =51.96)] }
2=[C=60° B=75 a=(204/2 /3 =48.99)]
NOSZ[.I:[C:6O°,b:(14«/5«/7:34.29),a:(7«/5«/§+21«/5:46.84)]}
2=[B=30°a=78,c=(784/3 = 135.10)]
Nod =[a=90,b=(904/3 = 155.88), 4 = 30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00032XX
TrigonometryExercise7 for No.13500

NO,:[-I=[C=60°,b=(11ﬁﬁwsﬁ:ml),a:(zzﬁﬁ:ss.gg)]}

2=[a=54 b= (5443 =93.53), c=54]
.1=[C=45°,B=105°,a=(24«/5=33.94)]}
2=[A4=30° B=105° c=(72+/2 = 101.82)]
N03:[.1=[C=45°,a=(45ﬁﬁ=110.23),b:(45+45ﬁ:122.94)]}
2=[B=30° a=54 c= (5443 =93.53)]

Nod=[a=48,b= (4843 =83.14),4=30"]
X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXXKXKXKKXXKXKXKKXKXKK

No]z[

N02=[

N02=[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKXMS/1-6400307-00033XX
TrigonometryExercise7 for No.13637

{1 —[A4=60%b=(5+243 + 15«/5=33.46),c=(10«/5«/?=24.49)]}
Nol =
2=[a=(39+/24/3 =394/2 =4038), b= (784/2 = 110.31), ¢ = 78]
I =[B=105°, C=45° a=(33+2 =46.67)] }
2=[B=60°,C=75% a=(284/2 3 =68.59)]
I=[B=30°%c=(304/3 =51.96), a = 30] }

N03:[2:[C=60°,b:(9ﬁﬁ+27ﬁ=60.23),a:(lsﬁﬁ=44.09)]

Nod=1[a=66,b=(66+3 =114.32), 4 = 30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00034XX

TrigonometryExercise7 for No.645101

[.1: [a=(1442 /3 14242 =93.69),b=(28«/5«/;:68.59),c=84]}

Nol = o

2=[B=30%c¢=(3642=5091),a=(18+424/3 —184/2 = 18.63)]
1:[B=105°,A:30°,c=(90«/5=127.28)]}

2=[A=105°, B =45 c= (4542 = 63.64)]

N(ﬁ{ I =[A=30% b= (244243 —244/2 =24.85), ¢ = (484/2 = 67.88)] }
TL2=[B=60° a=(164/2 43 =39.19), c = (84/2 /3 +244/2 = 53.54)]

Nod =[a=36,b= (3643 =62.35), 4=30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00035XX

TrigonometryExercise7 for No.645102

NO]{ I=[B=30%a=(3043 =51.96), c = 30] }
2=[a=30,b=(54/2 3 +154/2 =33.46), c = (1042 4/3 =24.49)]
1=[B=30°%C=15%a=(724/2 =101.82)] }
2=[C=60°A4=75b=(144/2 43 =3429)]

1=[C=30°a=(8442 =118.79), b= (4242 4/3 —424/2 :43.48)]}
2=[B=45°,a=(36+3643 =98.35),c=(364/2 4/3 =88.18)]

Nod=[a=54b=(54+3 =93.53), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00036XX

TrigonometryExercise7 for No.645103

I =[A=45°b=(15+154/3 =40.98), c = (154/2 =21.21)] }
2=Ta=(5424/3 +154/2 =33.46), b =30, c = (104/2 +/3 = 24.49)]
1=[C=105°,B=30°% a= (362 =50.91)] J

2=[B=75,4=45,c= (1842 /3 =44.09)]
N03:{1:[A:60°,c:(7«/5«/§+21 2:46.84),b:(14«/5«/§:34.29)]}
2=[B=30°c=(7842 =11031),a=(394/2 /3 =394/2 = 40.38)]

No4=[a=54,b=(5443 =93.53),4=30"]
X [Page = 0009] XXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXXXXXKXKXXKXXKXKXKKXKXKXKKXKXKK

N02=|:

No2 = {

N02=[

No3 = [

No]:{

N02=[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXKXXKXXKXXKXMS/1-6400307-00037XX
TrigonometryExercise7 for No.645104

Nolz{zz[az(nﬁﬁﬁun 2 =73.61),b=66,c:(22«/5«/§:53.89)]}
2=[C=45°b=(184/2 /3 =44.09), a = (184/3 — 18 = 13.18)]
1=[C=45°,B=105", a:(27«/3:38.18)]}
2=[C=30°A4=30°b=(6643 =11432)]
N03{.1 —[A=30% c=(454/2 +454/24/3 =173.87), b= (90 4/2 = 127.28)]}
2=[B=45c=(454/24/3 =110.23), a = (45 + 4543 = 122.94)]
Nod=[a=42,b= (4243 =72.75), 4 = 30°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00038XX
TrigonometryExercise7 for No.645105

ol {.1: [A:60°,c=(14«/§«/§+42«/§=93.69),b:(28«/5«/§:68.59)]}
2=[a=(48+2 =67.88), b= (24+/2 43 = 2442 =24.85), ¢ = 48]
Nozz[.]:[C:45°,A:75°,b:(24«/5«/§:58.79)]J
2=[A=60° B=75,c=(28+/2 /3 =68.59)]
I=[4=30%b=78,c= (7843 = 135.10)] }
2=[B=45,a= (27243 =66.14),c = (274/3 =27 =19.77)]

Nod=1[a=48,b=(48+3 =83.14), 4 = 30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00039XX

TrigonometryExercise7 for No.645106

NO]Z{I:[a:(nﬁﬁ+33 2 =73.61),b=(22«/5«/;:53.89),c:66]}
2=[A=45b=(2142=29.70), c = (21 + 21 /3 = 57.37)]
Nozz[.]=[C=75°,A=60°,b=(20«/5«/§=48.99)]J
2=[B=30°4=105°,c = (48+/2 = 67.88)]
I=[C=30°b=(784/3 =135.10), a = 78] }
2=[B=45°,c=(454/2 = 63.64), a=(45+454/3 = 122.94)]
Nod=[a=54b=(54+3 =93.53), 4 = 30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00040XX
TrigonometryExercise7 for No.645107

Noi :{1 —[4=30°%b=(304/2 /3 ~304/2 =31.06), c = (6042 = 84.85)]}

2=[a=214/24/3 =51.44), b =42, c = (2143 =21 = 1537)]

N02=[

N03:[

N03={

I=[A4=30° C=30°%b=(604/3 =103.92)] }
2=[B=45,4=15,¢c= (3042 /3 =73.48)]

N03_{ I=[C=30% a= (4542 +454/24/3 =173.87), b = (904/2 = 127.28)] }
TL22[4=60° b= (1542 43 +454/2 =10038), c = (304/2 4/3 = 73.48)]

Nod=[a=84,b= (8443 =145.49),4=30°]
X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXXKXKXKKXXKXKXKKXKXKK

N02=[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKXMS/1-6400307-00041XX
TrigonometryExercise7 for No.645108

{]:[a=(16«/5«/;:39.19),b=(8«/§«/§+24 2=53.54),c:48]}
Nol =
2=[A=45b=(3942 /3 =9553), ¢ = (39 +39+/3 = 106.55)]

[1 :[A:60°,B:75°,c:(30«/5«/§:73.48)]J

No2 =

2=[B=30°4=105° ¢ =(364/2 =50.91)]

NOS_{]:[C:3O°,b:(30«/5:42.43),a:(15«/5«/g—15 2:15.53)]}
T 2=[B=45°,c=(36+364/3 =9835),a=(364/2 43 =88.18)]

Nod=1[a=48,b=(48+3 =83.14), 4 = 30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00042XX

TrigonometryExercise7 for No.645109

= [C:45°,a=(24+24«/§=65.57),b=(24«/§=33.94)]}
2=[a=66,b=(664/3 = 114.32), c = 66]
[.1:[C=75°,B=6o°,a=(2oﬁﬁ=48.99)]J
No2 =
2=[C=30°4=105 b= (422 =59.40)]
Noj,_[.z: [B=60°a=(13424/3 + 39«/5:87.00),c:(26«/5«/§:63.69)]}
Tl 2=[4=230% c=(784/2 = 110.31), b= (394/2 +394/2 4/3 = 150.68)]

Nod=1[a=60,b=(60+3 =103.92), 4 = 30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00043XX

TrigonometryExercise7 for No.645110

I=[C=45a=(21+214/3 =57.37), b= (2142 =29.70)] }

2=Ta=(10424/3 +304/2 =66.92), b =60, c = (2042 +/3 = 48.99)]
I=[A4=30°%B=105°c=(724/2 = 101.82)] }

2=[C=60°A4=75b=(1642 43 =39.19)]

N03_[ d=[Ad=45b=(27424/3 =66.14),c = (274/3 =27 =19.77)] }
TL2=[B=30° a=(304/2 +304/2 4/3 = 115.91), ¢ = (60 4/2 = 84.85)]

Nod=[a=42,b=(42+3 =72.75), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00044XX

TrigonometryExercise7 for No.645111

NO]_[.1=[a=72,b=(36ﬁf=88.18),c=(36ﬁ—36:26.35)]}
B 2=[B=30°a=90,c=(904/3 = 155.88)]

NOZZ{I:[C:45°,B:15°,a:(42«/5«/§:102.88)]}

2=[B=30°4=30° c=(784/3 = 135.10)]

1= [A=45°,b=(33+33ﬁ=90.16),c=(33ﬁ=46.67)]}
2=[C=30°a=(364/3 =6235), b=36]

Nod=[a=84,b= (8443 =145.49),4=30°]
X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXKXKXKXKKXKXKXKKXKXKK

N0]=|:

Nolz{

N02=[

No3 = [



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXMS/1-6400307-00045XX
TrigonometryExercise7 for No.645112

{ I =[a=(60+2 =84.85), b=60,c=(304/2 /3 —304/2 =31.06)] }
Nol = o
2=[4=60%c=(134/2 43 +394/2 =87.00), b= (264/2 4/3 =63.69)]
Noz—['] —[4=75° C=45°,b:(21«/5«/§:51.44)]}
2=[4=30° C=105° b= (9042 = 127.28)]
N(ﬁ{.] :[A=60°,b=(8«/5«/§+24«/5=53.54),c=(16«/§«/§=39.19)]}
2=[C=45°b=(21+214/3 =5737),a=(214/2 =29.70)]
Nod=[a=36,b= (1842 /3 =44.09), 4 = 45°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00046XX
TrigonometryExercise7 for No.645113

No]_[.]z[a=(15+ 15«/;:40.98),b=30,c=(15«/§«/§=36.74)]}
2=[C=30%b=90,a=(90+3 = 155.88)]

Noz_[l _[B=45°4=15° c= (364243 = 88.18)]}
2=[C=30° B=15%a=(9042 = 127.28)]

Noj‘—[ T =[A=30°c= (8442 = 118.79), b= (424/2 4[3 —424/2 = 43.48)] }
TL2=[B=60° a=(264/2 43 =63.69), c = (134/2 4/3 +394/2 =87.00)]

Nod=1[a=48,b=(48+3 =83.14), 4 = 30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00047XX

TrigonometryExercise7 for No.645114

{1 —[A=60°c= (74243 +2142 :46.84),b=(14«/5«/§=34.29)]}
Nol =
2=[a=(3642=5091),b=72,c=(36+3643 =98.35)]
NOZ_[.]=[A=60°, C=75°,b=(18«/§«/§=44.09)]}
TL2=[4=15° C=45°, b= (2742 4/3 = 66.14)]
I=[B=30°a= (4243 =72.75), c = 42] }

N03:{2:[A:6O°,b:(7«/5«/§+21«/5:46.84),c:(14«/5«/§:34.29)]

Nod=[a=36,b= (1842 /3 =44.09), 4 = 45°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00048XX

TrigonometryExercise7 for No.645115

d=[a=(48+/3 =83.14), b= 48, c = 48] }

2=[A=45°b=(27+2743 =73.77), c = (274/2 43 = 66.14)]
1=[C=30° B=30°a=(304/3 =51.96)] }

2=[A=75B=60°c= (1442 /3 =3429)]

N03_{ I=[B=45°c=(394/3 —=39=2855),a=(394/2 4/3 =95.53)] }
TL22[4=60° b= (1542 43 +454/2 =10038), c = (304/2 43 = 73.48)]

Nod=[a=66,b=(33424/3=80.83),4=45]
X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXKXKXKXKKXKXKXKKKKXKK

No]:[

N02=[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXXKXMS/1-6400307-00049XX
TrigonometryExercise7 for No.645116

NOIZ{J:[C=60°,a=(20«/5«/;:48.99),b:(loﬁ«/g+30 2:66.92)]}
2=[a=54 b=(544/2=7637),c=(274/2 43 —274/2 =27.95)]
NOZ:{]:[B:15°,A=45°,c:(45ﬁﬁ=110.23)]}

2=[B=75°,C=60%a=(124/2 43 =29.39)]
Noj,:[ I=[Ad=45 c= (1842 4/3 =44.09), b= (18 + 183 = 49.18)] }
2=[B=60°c=(124/2 43 +364/2 =8031), a=(244/2 4/3 =58.79)]

Nod=[a=72,b=(72+/3 = 124.71), 4 = 30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00050XX

TrigonometryExercise7 for No.645117

{1:[a=(8«/5«/;+24«/5:53.54),b:48,c:(16«/5«/7=39.19)]}

Nol =

2=[C=45°b=(274/2 3 =66.14), a = (27 + 273 =73.77)]

I=[C=30°%4=15% b=(7842 =11031)] J

2=[C=15% 4=45°b=(27+/2 /3 =66.14)]

N(ﬁ{ I=[A=45°c=(154/24/3 =36.74), b= (15 + 1543 = 40.98)] }
TL2=[C=30° b= (4842 =67.88), a = (2442 4/3 —24[2 =24.85)]

Nod=[a=30,b=(154/2 /3 =36.74), 4 = 45°]

):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00051XX
TrigonometryExercise7 for No.645118

NO]_{]:[a=(16«/5«/;:39.19),b=(8«/§«/§+24 2=53.54),c:48]}
Tl 2=[4=45° b= (2442 4/3 =58.79), c = (24+/3 — 24 = 17.57)]
[]=[C:15°,A=45°,b:(39«/5«/§:95.53)]}
No2 =
2=[C=105°,B=30°% a=(84+/2 = 118.79)]
Nog o [1 [B=60° a= (2442 /3 =5879), c=(124/2 /3 +364/2 = 8031)]}
2=[C=45°b=(3943 —39=2855), a= (3942 4/3 =95.53)]

Nod=1[a=60,b=(60+3 =103.92), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00052XX

TrigonometryExercise7 for No.645119

NO]:[ I=[C=45°b=(184/2 /3 =44.09), a = (18 + 18 /3 =49.18)] }
—la=(144/2 43 +424/2 =93.69), b= 84, c = (284/2 4/3 = 68.59)]
Nozz[.l:[B:45°,A=75°,c:(33«/5«/§=80.83)]}

2=[4=75,C=60°b=(18+2 /3 =44.09)]
Nog o [ —[A=60%b=(124/2 43 +364/2 =8031), c= (2442 4/3 = 5879)]}
2= [B=45 a= (2443 —24=17.57), c = (242 4/3 = 58.79)]

No4=[a=36,b=(3643 =62.35),4=30"]
X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXKXXKXKXKKXKXKXKKXKXKK

Ab2=[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXXKMS/1-6400307-00053XX
TrigonometryExercise7 for No.645120

[.1=[C=6o°,a=(12ﬁf=29.39),b=(6ﬁﬁ+18«/5:40.15)]}
Nol =
2=[a=54b=(27+273 =73.77), c = (272 = 38.18)]
[1 —[B=30°C=30°a=(78+3 = 135.10)]}
No2 =
2=[C=105% A=45°b=(1542 =21.21)]
[1 [4=60% c=(104/2 43 +304/2 =66.92), b= (2042 4/3 = 4899)]}
No3 =
2= [B=45a=(18+18+/3 =49.18), c = (18 /2 4/3 = 44.09)]

No4=[a=42,b=(42f=72.75),A=30 1
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400307-00054XX

TrigonometryExercise7 for No.645121

{ I=[B=45,a=(2724/3 =66.14),c = (274/3 =27 =19.77)] }
Nol =
2=[a=(214/2 +214/24/3 =81.14), b= (424/2 = 59.40), ¢ = 42]
NOZ_[.]:[A:15°,B:45°,c=(39«/5«/§=95.53)]}
2=[C=75%4=60%b=(304/2 3 =73.48)]
NO3_[1 _[B=45% c= (242 4/3 =58.79), a= (243 —24 = 17.57)]}
2=[C=30% a=54 b= (5443 =93.53)]
Nod =[a=54b=(274/2 3 =66.14), 4 = 45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00055XX
TrigonometryExercise7 for No.645122

d=[a=78,b=(784/3 = 135.10), ¢ = 78] }
2= [A=45 b=(15+153 =40.98), c = (152 4/3 = 36.74)]
Moo { —[B=75°C=60° a= (184243 = 4409)}
2=[C=15% A=45° b= (3042 +/3 = 73.48)]
N03:{1=[B=60,c:(sfﬁ+15[:33.46),a:(loff=24.49)]}
2=[C=30° b= (424/2 =59.40),a = (214/2 + 21 4/2 4/3 =81.14)]

Nod =[a=54b=(274/2 3 =66.14), 4 = 45°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400307-00056XX

TrigonometryExercise7 for No.645123

NO]_{ I =[A=45b=(3642=5091), c=(36+364/3 =9835)] }
TL2=[a=(84/2 43 +244/2 =53.54), h=48, c = (164/2 4/3 =39.19)]
[.1 :[A:600,B:75°,c:(12«/5«/§:29.39)]}
No2 =
2=[C=105°, B=45° a= (4242 =59.40)]
NOS_[I:[C:6O°,a:(30«/5«/3:73.48),b:(IS«/E«/;+45«/E:100.38)]}
L 2=[4=30%c=(184/2 +184/2 4/3 =69.55), b= (364/2 = 50.91)]

Nod =[a=54b=(274/2 3 =66.14), 4 = 45°]

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXKKKXKXXXKXKXKXKXKKXKXKXKXKXXKXKX KKK XXX KKXXXXKXKKXKKXX
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TrigonometryExercise7 for No.645124

NO]Z[.J —[C=60°b=(20+2 /3 =48.99),a= (1042 4/3 +304/2 :66.92)]}
2=[a=78b=(39+394/3 =106.55), c = (392 = 55.15)]

NOZ:[.] —[C=30°B=30°a=(90+3 = 155.88)]}

2=[A=105°, C=45°,b=(274/2 = 38.18)]

I=[A=30% b= (4243 =72.75), c = 42] }
2=[C=45° a=(30+304/3 =81.96), b= (304/2 =42.43)]

Nod =[a=48,b= (2442 /3 =58.79), 4 = 45°]
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TrigonometryExercise7 for No.645125

NO][ d=[a=(27+2 =38.18), b= (27 + 2743 =73.77), ¢ = 54] }
2=[B=60°a=(224/2 /3 =53.89), ¢ = (114/2 4/3 +334/2 = 73.61)]
I=[B=30° C=30%a=(424/3 =72.75)] J
2=[C=45,B=75" a=(27+/2 /3 =66.14)]
[1 [A=60°b=(2642 /3 =63.69), c= (1342 4/3 +394/2 = 8700)]}
No3 =
2= [C=45° b=(45424/3 =110.23), a = (45 + 45 /3 = 122.94)]

No4=[a=36,b=(36f=62.35),A=30 1
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
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TrigonometryExercise7 for No.645126

[.Iz[A:60°,c=(11«/5«/;+33«/5=73.61),b:(22«/5«/§:53.89)]}
Nol =
2=[a=214/2 43 —214/2 =21.74), b = (424/2 = 59.40), ¢ = 42]

1=[C=30°B=30%a=(904/3 = 155.88)] }
2=[A4=60° B=75 c=(26+2 /3 = 63.69)]

{1 _[C=30° b= (542 =7637),a= (2742 43 =274/2 =27.95)]}
No3 =
_[A=45°, c= (4542 =63.64), b= (45 + 453 = 122.94)]

Nod=[a=42,b=(42+3 =72.75), 4 = 30°]
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TrigonometryExercise7 for No.645127

NO]:[-1:[a:84,17:(281/55:68.59),c:(14«/5«/§+42«/5:93.69)]}

2=[B=45,c=(274/2 =38.18), a= (27 +274/3 =73.77)]

Moo - { —[C=60°,B=75,a= (184243 = 4409)}

2=[C=15% A=45° b= (1842 /3 =44.09)]

Nog o [ —[A4=60%b=(204/2 43 = 4899)c_(10ff+30f 6692)]}

2=[C=30°b=(904/3 = 155.88), a = 90]

Nod=[a=T72,b=(72+/3 =124.71),4=30°]
X [Page = 0015] XXXXXXXXXXXKXXXXXXXXXXXXXXXXKXXKXXKXXKXKXXKXKXKKXKKXKXKXKKKKXKK
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TrigonometryExercise7 for No.645128

I=[C=30°b=(304/3=51.96), a=30] }

2=[a=(33+334/3290.16), b= 66, c = (334/2 4/3 =80.83)]

Moo [1—[A—105 C=30° b= (72[—10182)]}
2=[4=60°B=75 c—(3off 73.48)]

o [1 [4=60%b=(11424/3 43342 =73.61),c= (2242 /3 = 5389)]}

2=[C=45% a= (2442 =33.94), b= (24 + 244/3 =65.57)]
No4=[a=36,b=(18ff=44.09),A=45]
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TrigonometryExercise7 for No.645129

NOI:{]:[a:(54«/5:76.37),b:54,c:(27«/5«/§—27 2:27.95)]}

2=[C=45%a=(184/3 - 18=13.18), b= (184/2 4/3 = 44.09)]
I=[B=30° C=105 a= (3642 =5091)] J

2=[C=60°%B=75a=(26+24/3 =63.69)]

N03:[ I=[B=45c=(274/3 =27=19.77), a=(274/2 43 = 66.14)] }

2=[A4=60°b=(144/2 43 =3429), c = (74/2 4/3 +214/2 = 46.84)]

Nod=[a=42,b=(42+3 =72.75), 4 = 30°]
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TrigonometryExercise7 for No.645130

o [ I=[C=45°a= (2442 =33.94), b= (24 +244/3 = 6557)] }
2= [a=60.b=(604/2 =8485, c = (3042 43 —304/2 =31.06)]
N02=[' =[B=45,C=75,a=(18ff=44.09)}

2=[4=30° C=30°b=(724/3 = 124.71)]
N03_[ I=[C=45° a=(274/2 3 =66.14), b= (274/3 =27 =19.77)] }

—[A=60%b=(64243 +184/2 =40.15), c = (124/2 43 =29.39)]

Nod=[a=42,b=(424/3 =72.75), 4=30°]
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